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- install.packages("ggplot2") Z=3E1T

= install.packages("ggplot2™)
Installing package into ‘D:/users/user/Doc

{as "1ib" 1s unspecified)
trying URL "https://mran. reuu1ut1uﬂaﬂa1yti
Semmtrabh 2 3l O NN AR

- install.packages("dplyr") Z=3£1T

= install. packages("dplyr™)

Installing package into ‘D:/Users/user,/Do
(as ‘T1ib" 1is unspecified)

trying URL "https://mran.revolutionanalyt
ws/contrib/3.2/dplyr_0.4. 3. zip’
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iR te vl
* Install K "tidyr) Z=3E17T
install.packages("tidyr %1
) Updating Loaded Packages ? X
One or more of the packages that will be updated by this installation are t
packag pd i
l %  currently loaded. Restarting R prior to updating these packages is strongly

recommended,

RStudio can restart R and then automatically continue the installation after i
= dinstall. packages ( " d},.r. " } restarting (all work and data will be preserved during the restart). |
IﬂSta.-l-l-iﬂg pa.l:ka.ge into ‘D:I.I'EUSEI"SI.-"ILJSEI" Do you want to restart R prior to installing? E
{as ‘1ib" 1is unspecified) :
trying URL "https://mran.revolutionan: Tes Ne Gancel |
1-;5;’-::|:|n1:r"1 bfﬂ- 2;“1:1 d*_-,-fr" CI 3.1. zm TS T g !

- install.packages("magrittr") =347 =5 Yes

= install.packages("magrittr")
Error in install.packages : updating loade

Restarting R session...

Microsoft R Open 3.2.3
Default CRAN mirror snapshot taken on 20186

Tha anhanrad b Adicstribhotrdan Fram mHrencnfr

- install.packages("KernSmooth") =317
;n;ﬁ%ﬂ;QPSEEEESZ(:Ef;n?g?%:;gsxusermm .:. I-KJ t I-SJ b“*2$

{as “1ib" is unspecified)
trying URL "https://mran.revolutionanalyti
ws/contrib/3. szer‘nSmDDth_z.23—15.2'ip'

CI:II‘TEer'I‘E type app'l‘icat‘in:um’zﬁp' Tength 105¢ 4
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0> A RS O5 0] 4.

Ilﬁﬂlﬂﬁﬁﬁlﬂlﬁﬁﬂl o

1985 1432

1990 1222 820
1995 1187 922
2000 1191 962
2005 1063 1084
2010 1071 1197

7— )LD

x1 <- data.frame( £E/R=c(1985, 1990, 1995, 2000, 2005, 2010),

5

-#8=c(1432, 1222, 1187, 1191, 1063, 1071),

FET_#=c(752, 820, 922, 962, 1084, 1197))

FROFT—DIVZERT DI ARSI

+
+
= |

> ¥x1 =- data.frame( F:r=c(1985, 1990, 1995, 2000, 2005, 2010),

HE#=c(1432, 1222, 1187, 1191, 1063, 1071),
FETHI=c(752, 820, 922, 962, 1084, 1197) )
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- YERXE : Ronald
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ris D ABMETNENDOER NS A > 8

iR te vl

B : Sepal.Length, Sepal.Width, Petal.Length, Petal.Width

W

]
ji]
i+
f
—
=
—.
o
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=

Species
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa

. setosa

BEMDOEA NI S A

sepal.Lengthlsepal.widthjretal. Length

W Ca o~ Shown Bl R
[ T e e O e e e T e i e Y e O i Y i
g S S R O W S A S (A S

e L R R R el =
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5.1
4.9
4.7
4.6
5.0
5.4
4.6
5.0
4.4
4.9
5.4
4.8
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library(dplyr)
d2 <- tbl_df(iris)
library(tidyr)

nnnnnnnnnnnn

tttttttttttt

library(magrittr)

library(KernSmooth)

library(ggplot2)

d2 %>% select( Sepal.Length, Sepal.Width, Petal.Length,
Petal.Width ) %>% gather() %>% ggplot( aes(x=value, fill=key) ) +

geom_histogram( binwidth=dpih( use_series(d2, Sepal.Length) ),
alpha=0.5, position="identity") +

theme _bw()
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EX NS ATOXENRDFZE 4.

-
Sepal Length

[XfEME = 0.1

iR te vl

SDIL ngth

XMEZ. dpih EZZEHAUVCREE

library(ggplot2)

ggplot(iris, aes(x = Sepal.Length)) +
geom_histogram(binwidth=0.1) +
theme_bw()

library(magrittr)
library(KernSmooth)
library(ggplot2)
ggplot(iris, aes(x = Sepal.Length)) +
geom_histogram(
binwidth=dpih( iris$Sepal.Length ) ) +
theme_bw()
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1985 1432 752
1990 1222 820
1995 1187 922
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AT

X8 (Jr—ILRR) FX
1085 1432 752 YHEA (T —JLRR) HAEE FETE
1990 1222 820 RADASE (BfE) 3
1995 1187 922, whDLHE] (XFEHI) EX

2000 1191 962 T y .
2005 1063 1084 y BHODZET (XFH)  HAEZY, JETER

2010 1071 1197

x1 <- data.frame( £E/X=c(1985, 1990, 1995, 2000, 2005, 2010),
HA2=c(1432, 1222, 1187, 1191, 1063, 1071),
FET£8=c(752, 820, 922, 962, 1084, 1197))

library(ggplot2)

ggplot(x1, aes(x=2EX)) +

geom_point( aes(y=H42Y, colour="H4EZ1"), size=3) +
geom_point( aes(y=3ET_ZX, colour="3ET_&X"), size=3) +
labs(x="€E/X", y="HH&E£ZX, FETEX") +

theme bw()




AU + A UER

X8 (T —ILR%) FR
1985 1432 752 yHH (Jo —JLRR)  HERL FETCE T
1990 1222 8200 QDAETS (BE) 3 N E
S HST 92 sl (XFH) R -
2000 1191 962 o - "
2005 1063 10s4 Y THODHRT LF5) HIZEZL JETEK

2010 1071 1197

x1 <- data.frame( £ER=c(1985, 1990, 1995, 2000, 2005, 2010),
HAE=c(1432, 1222, 1187, 1191, 1063, 1071),
FET-#8=c(752, 820, 922, 962, 1084, 1197))

library(ggplot2)

ggplot(x1, aes(x=2EX)) +

geom_point( aes(y=H42%, colour="H4E%1"), size=6) +
geom_point( aes(y=3ET_Z, colour="3ET_£X"), size=6) +
geom_line( aes(y=tH42%%, colour="H42£8"), size=2) +
geom_line( aes(y=FET_%%, colour="ZET_£%"), size=2) +
labs(x="F/X", y="HZEZY, FETZX") +

theme_bw()



A4 [X

1985
1990
1995
2000
2005

2010

1432
1222
1187
1191
1063
1071

+ FRAZI

752
820
922
962
1084
1197

X8 (T —I)L R%)
y (T —JL RR)
HDARETE (FUE)

X BHADFA R (3LF5)
y B ET (XF5))

FIR

HAEER, JETEX
3

FIR

AR, FETER

x1 <- data.frame( €£/X=c(1985, 1990, 1995, 2000, 2005, 2010),
HAEZ=c(1432, 1222, 1187, 1191, 1063, 1071),
FET#%=c(752, 820, 922, 962, 1084, 1197))
library(ggplot2)
ggplot(x1, aes(x=2EX)) +
geom_point( aes(y=H4#%, colour="H42£8"), size=6) +
geom_point( aes(y=FET_ZY, colour="3ET_%£X"), size=6) +

_stat_zs)mooth( method="Im", se=FALSE, aes(y=H4#}, colour="tH4%%"),
size=2) +

_stat_zs)mooth( method="Im", se=FALSE, aes(y=%E1_%¥, colour="3ET_£X"),
size=2) +

labs(x="gF/R", y="thZ&EZ], FETEX") +

theme_bw()
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png 2 7 -1 )LODAERK

J7A)L f:/1.png ([C1RFF

x1 <- data.frame( &EX=c(1985, 1990, 1995, 2000, 2005, 2010),
HAE#=c(1432, 1222, 1187, 1191, 1063, 1071),
FET-#%=c(752, 820, 922, 962, 1084, 1197))

library(ggplot2)

png("f:/1.png")

ggplot(x1, aes(x=2EX)) +
geom_point( aes(y=H42Y, colour="H428"), size=3) +
labs(x="€E/X", y="HHEZN") +
theme_bw()

dev.off()
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1Y (mean). ZR#ERZE (sd). 738X (var)

FFOME (median). PU53{iisx (quantile).

FAE (max). &/JME (min)

EE A 90 Lengﬁla:S Ler‘%tﬁfS M'ir'lf.[;aﬁlﬁﬂ 180
E558 B 80 Node icharacter mode icharacter median :90
= E2 A 95 3rd u. %0
%gﬁ B 90 | Max. :95
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piET — %
BEENEL ALl di<-data.frame(

EE A 90  RIBE=c('EE" "EE e, e, Eay)
S B 80 SHEE=C("A", "B", "A", "B", "A"),
=5y A 95 Br2=c(90, 80, 95, 90, 80) )
B2 B 90
R A 80 A2 RS54

> iris

sepal. Length Sepal.width Petal.Length Petal.width Species
0.2 setosa
setosa

o Xiris T—tY hMZ
v R AT ACHHAHAFEH

5etosa
setosa

5etosa
setosa
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g
1.
1.
1.
1.
1.
1.
1.
1.
1.
1.
1.
1.

[NER VYN RNY N WUy OY Ry WU WUy VY Ry WUy Y Ry WH
[ I e B o I e - Y e Y e o Y e e o
Fd B2 R Pl = B R B R

w

1]

[l

[=]

0

[=1]

I
CU

iris >—4~twv ~
23



EFEET= (summary Z{&E

E|ZE A 90
E|:E B 80
iE & A 95
B B 90
iR I A 80

d1 <- data.frame(

1) ©

X.

> summary(dl)

1 H
EsE:2
B2
IEF i1

A3
B:2

(=]
Min. 180
1st Qu. :80
Median :90
Mean 1B

Ird Qu. :90
Max. ;45

iR te vl

¢ BUERMECHUTE

RE=c(EE", "EE", "B, ", TR,

TEBE=Cc("A", "B", "A", "B", "A"),
8r2=c(90, 80, 95, 90, 80))

summary(dl)

JL

&\ AR
SPSER

pAKIVES
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33 X BRODZAR] (XXF5) Nl=
o Y EHODZAHT (SF5) s

d1 <- data.frame(
RIB=c('E:E", "HE", "HH, "H, R,
SHE=C('A", "B, "A", "B", "A"),
8r1=c(90, 80, 95, 90, 80))
library(ggplot2)
ggplot(dl, aes( x=RIH, fil=R&lH )) +
geom_bar(stat="count") +
labs(x="FRIE", y="HA%x") +
theme_bw()

so ENLIEWTr—)LR% BE ..

iR te vl
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iR te vl

SLI er TSI LoBRE
555 g0 HEHUIEWIr—ILRE SIS
zf o X BB (SFF) B -
o Oy R E (L) e

d1 <- data.frame(
RB=c('EE", "EE", "HH, B, ERY),
=saa=c("A", "B", "A", "B", "A"),
8 r2=c(90, 80, 95, 90, 80) )
library(ggplot2)
ggplot(dl, aes( x=18m)) +
geom_bar(stat="count") +
labs(x="1F =", y="Fa&X") +
theme_bw()
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Bt E (summary Z{EA) @

A il
. sepal.Length Sepal.width Petal.Length
] W;ipa'l.Length sepal.width Petal.Length Petal.width Species M-i . 4, 300 M-i . 2. 000 M-i . 1,000
2 40 30 14 02 ieree 1st Qu.:5.100 1st Qu.:2.800 1st Qu.:1.600
: it 32 e o2 ferosa Median :5.800 Median :3.000 Median :4.350
. 2. 30 s 02 zeroea Mean :5.843 Mean :3.057 Mean :3.758
’ 4.8 3 14 0-3  serosa Ird Qu. :6.400 Ird qu.:3.300 3rd Qu. :5.100
9 4.4 2.9 1.4 0.2 setosa Max. 17,900 Max. 4,400 Max. 6.900
10 4.9 3.1 1.5 0.1 setosa ' '
11 5.4 3.7 1.5 0.2 setosa Petal.width Species
12 4.8 3.4 1.6 0.2 setosa M-iﬂ. :D.lDD S-ET_DS-EI. :SD
e . — W 1st Qu. :0. 300 versicolor:s0
Ins 7 gt} I\ Median :1.300 wvirginica :50
Mearn :1.1499
Ird Qu. :1. 800
Max. 2.500

summary(iris)
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